Bilans koncowy
Zespot Szkot Nr 6 w Poznaniu

LP Pi Kz Sz ILOSC lobc IN
ROZDZIELNICA ODBIOR Pz Qz cos phi

[kW] [kW] [kVAr] [kVA] FAZ [A] [A]
1 (WLZ-3 40,0 30,0 11,9 0,75 0,93 32,3 3 47 63
2 (WLZ-2 30,0 22,5 8,9 0,75 0,93 24,2 3 35 63
3 |wLz-1 30,0 22,5 8,9 0,75 0,93 24,2 3 35 63
4 |Kurtyna powietrzna 340W 0,3 0,2 0,1 0,70 0,85 0,3 1 1 10
5 |Kurtyna powietrzna 200W 0,3 0,2 0,1 0,70 0,85 0,3 1 1 10
6 [Centrala wentylacyjna C4 6,8 4.8 2,9 0,70 0,85 5,6 3 12 32
7 |Centrala wentylacyjna C5 6,8 4,8 2,9 0,70 0,85 5,6 3 12 32
8 [Centrala wentylacyjna C6 1,2 0,8 0,4 0,70 0,91 0,9 3 2 10
9 |RG2 117,6 87,7 37,0 0,75 0,92 95,2 3 138 160
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